
Instrucciones de montaje: estanterías para Picking M7
Instructions for assembly: racking for Picking M7

Instructions de montage : rayonnages pour Picking M7

Montageanleitung: Picking M7

Istruzioni per il montaggio: scaffalature per Picking M7

Instruções de montagem: estantes Picking M7

Richtlijnen en montage: stellingen voor haspels of Picking M7

Instrukcja montażu: regały na Picking M7

Navod k montaži: regály na Picking M7

Návod na montaz: regály na Picking M7

T&C: https://www.mecalux.com/general-sales-conditions



2/5 2

mm

1A 

 

2A 

 

 D… 

  
  

D933 D931 D965 D912 

   
 

D7985 D603 D7380 D7991 

   
 

D7504-P D7504 K D7504-P aleta D7504 N 

    

D7504-K Z + EPDM D7981 D7505 B D7982 

 
  

 

D7505 A D7505 A & … Flor Aluminio 

 

 
 

D125 D127  

 

 

D9021  

 

B 
 

Z 
 

P 
 

 

 

D985 

 

D557 

 

 

M 8X 20 D933 8.8 B TE1A

(L)(Ø)

T 

 

D934 

TE 

 

D6923 

 

 

 

 

M10x70 

M10x110 

MVA 

 
 

EXP. MSA 

 



2/5 3

19-24

45

37-38

4-17

30-31

21

36

33

29

34-35

46

18

10



2/5 4

>
2

 m
>

2
 m

FEM 10.2.06

EN 15512

EN 15620

EN 15635



2/5 5

a = 75.. a = M-80 / M-81
A

a

a

b

b

c

M8x30 D933 

8.8 B TE1A

a b c 

75.. 

 

 

 
2x (M8x15 D933  

5.6 Z T.2A) 

M-80 

M-81 
 

 

 
2x (M8x30 D933 

8.8 B TE1A) 

 
c

M8x15

D933 5.6 Z T.2A

≤
 6

0
0

0
 m

m
a

e

d

A

C

B

e

d

a

B

A

C

a

d

e

B

A

C

a = M-80 a = M-81a = 75.. (7515 / 7520)



2/5 6

B

e

a = 75..

f

M8x40 D933 

Z T.2A 

f

M8x67 D931

8.8B TE

d

f

M8x67 D931

8.8B TE 

+
d / ed / e d / e

d

e

d

e

a = M-81a = M-80

mm

C

h

a

d / e

a = 75.. a = M-81a = M-80

d / e

h

a

a

d / e

h

mm



2/5

e

1
5
0

A
1

1
1
0
0

A
2

1
5
0

H
=

 1
7
0
0
-2

3
5
0

A
1

1
5
0

9
5
0

b
9
5
0

A
2

1
5
0

H
=

 2
4
0
0
 /

 3
0
0
0

1
0
0

6
0
0

1
0
0

H
. 

m
a
x
. 

1
6
5
0

A
1

A
2

1
0
0

1
0
0

6
0
0

1
0
0

1
0
0
-7

0
0

5
0
-1

5
0

H
>

 3
0
0
0

7

mm

mm

A1=A2  //  A1=A2+50  //  A1+50=A2 b=100 → H≤ 2700

b=200 → H> 2700

e

d

e

e

e

d d d

a = 75..

H 

(mm) 
 

 
 

M8x40 D933 

Z T.2A d e 

≤ 2350 2 1 6 

3000 2 2 8 

3500 2 4 12 

4000 2 5 14 

4500 2 6 16 

5000 2 6 16 

5500 2 7 18 

6000 2 8 20 

 

 

 
F 

(mm) 

 

L (mm) 

d e 

500 461 775 

600 561 836 

800 761 979 

900 861 1058 

1000 961 1140 

1100 1061 1225 

1200 1161 1312 

 



2/5 8

e

S

1
0
0

N
 x

 6
0
0

B
A

6
0
0

H

d

a = M-80

H 

(mm) 
 

d+e 

 
 

M8x67 D931 

8.8B TE 
 

 

S 

(mm) 

B 

(mm) 

A 

(mm) 

2000 2 + 3 6 2 100 0 100 

2500 2 + 3 7 4 600 450 150 

3000 2 + 4 8 4 500 350 150 

3500 2 + 5 9 4 400 250 150 

4000 2 + 6 10 4 300 150 150 

4500 2 + 7 10 2 200 0 200 

5000 2 + 8 11 2 100 0 100 

5500 8 + 2 12 4 600 450 150 

6000 9 + 2 13 4 500 350 150 

 

mm 



2/5 9

A
B S

H

1
0
0

6
0
0

1
0
0

d

e

1
0
0

a = M-81

H 

(mm) 
 

d+e 

 
 

M8x67 D931 

8.8B TE 
 

 

S 

(mm) 

B 

(mm) 

A 

(mm) 

2000 2 + 2 8 8 500 400 100 

2500 2 + 3 10 10 300 200 100 

3000 2 + 3 10 10 800 600 200 

3500 2 + 4 12 12 600 400 200 

4000 2 + 5 14 14 400 300 100 

4500 2 + 6 16 16 200 100 100 

5000 2 + 6 16 16 700 500 200 

5500 2 + 7 18 18 500 400 100 

6000 2 + 8 20 20 300 200 100 

6500 2 + 8 20 20 800 600 200 

7000 2 + 9 22 22 600 400 200 

7500 2 + 10 24 24 400 300 100 

8000 2 + 11 26 26 200 100 100 

8500 2 + 11 26 26 700 500 200 

9000 2 + 12 28 28 500 400 100 

9500 2 + 13 30 30 300 200 100 

10000 2 + 13 30 30 800 600 200 

10500 2 + 14 32 32 600 400 200 

11000 2 + 15 34 34 400 300 100 

11500 2 + 16 36 36 200 100 100 

12000 2 + 16 36 36 700 500 200 

 

mm 



2/5 10

1



2/5

11

x2

x1

≤
1
0
0

≤
1
0
0

≤
8
0
0

≤
8
0
0

H
=

 1
5
0
4

≤
1
0
0

≤
1
0
0

≤
8
0
0

≤
8
0
0

H
=

 2
0
0
4

F

≤
8
0
0

≤
1
0
0

≤
8
0
0

≤
8
0
0

≤
8
0
0

≤
1
0
0F

H
=

 2
5
0
4

F

H

F

 

 
H (mm) 

 

1504 x6 

2004 x8 

2504 x8 

 



2/5 12

2

3



2/5 13

4 5

mm

6



2/5 14

7

8

a = 75..

a = M-80 / M-81



2/5 15

9

3

1
a = 75..

a = M-80 / M-81



2/5 16

10

M10x70 / M10x110

M10x70

M10x110

M8x60

M8x60

 

M8x60 

x2 

 

a = 75..

a = M-80 / M-81

 

 

M10x 70 

x2 

 

 

M10x110 

x2 
 



2/5 17

11

12

H

±
6

0
0

2

1



2/5 18

13

 

 
 

 a= 75.. a=M-80 / M-81 

x1 x2 x2 

 

a = 75.. a = M-80 / M-81



2/5 19

 
 

 

M8x15 D933 
5.6 Z T.2A  

x1 x4 

 

M8x15 D933 

5.6 Z T.2A

M8x15 D933

5.6 Z T.2A

≤
4
0
0
0

1
5
0

>
4
0
0
0
 <

5
0
0
0

1
5
0

1
4
0
0

≤
3
6
0
0

>
5
0
0
0
 ≤

8
0
0
0

1
5
0

≤
3
6
0
0

1
4
0
0

≤
3
6
0
0

A

B



2/5 20

1

F

F F

F

b

e

a
c

d

a



2/5 21

 

 

 

 

 

a b c d e 

x2 x4 F x1 x2 

 

2

e

d

1 2

3 4



2/5

1

a

b

c

1

22

b

2

1

 

 

 

 

a b 

x1 x2 



2/5 23

2

3

 

 

 

 

 

a b 

x1 x2 

1

2



2/5 24

a’

a

b

a’

a

a

FF U

x1           (2F + U)

d

C

e

d

C

a

A

a’a a

a’

 

 

 

 

 

 

 

 

 

 

a a’ b C d e 

x2 x1 x6 F + U x1 (2F+U) x2 

 



2/5 25

FF U

x1           (2F + U)

d

c
c

a’

a

b

e

d

C

a

a’

a

a

a’

a a’ a’ a

 

 

 

 

 

 

 

 

a a’ b c d e 

x2 x2 x8 F x1 (2F+U) x2 

 

B



2/5 26

1

2

1

43

2



2/5 27

 
 

 
 

M8x15 D933 

5.6 Z T.2A 

 

 

 

 
 

M8x40 D933 

Z T.2A 

 
 

M8x67 D931 

8.8 B TE 

A (75..) b c d e f g 

x1 x1 x2 x2 x1 x2 x1 

 

 

 

 

UF

F + U

e

a

e

≤
1
6
0
0 1
7
0
0
 -

2
3
5
0

2
4
0
0
 -

3
0
0
0

>
 3

0
0
0

A

C

B

e

f

A

a

b

c

C

efg

d
B

a = 75..



2/5 28

e

 

 

 

 
 

M8x30 D933 

8.8 B TE1A 
 

a (M-80) b c d 

x1 x1 x2 x2 

 

 

 
 

M8x67 D931 
8.8 B TE 

 
 

M8x70 D931 
8.8 B TE1A 

 

e f g h 

x2 x2 x1 x1 

UF

F + U

B

a

eB A

C

e

f

A

a

b

c

C

ef

g+h

d

h

B

a = M-80

e



2/5 29

e

UF

F + U

C

a

e

e

 

 

 

 

 

 

 

 

 
 

M8x30 D933 
8.8 B TE1A 

 

 

 

 

a (M-81) b c d e 

x1 x1 x2 x2 x1 

 
M8x70 D931 
8.8 B TE1A 

 
M8x67 D931 

8.8 B TE   

 

f g h i  

x1 x2 x1 x1  

d

C

AB

a

b
c

C

eg

f+h

B

e

g

A

i

a = M-81

h



2/5 30

a

a’

a’

a

a

b

  

 

 

a a’ b c 

x2 x1 x6 x1 (F+U) 

 

UF

F + U

C

AB

a

c
aaa a’



2/5 31

G F

1
1

2
2 3

4



2/5 32

B

1

2

1 2 3 4

A



2/5 33

1

2

 
 

b c 

x1 x2 

 

l

 

 

L (A / B) l 

1000 961 

1250 1211 

1400 1361 

 

 

  

l 
L 

mm

b

c

L

C

1 2

1

2



2/5 34

1

c
b

A / B

 

 
 

 

A / B   b c 

x1 x2 x4 

 

2

BA

1 2 3 4



2/5 35

1

F

2

1

2

3

B
F



2/5 36

b

a



2/5 37

1 2



2/5 38

 

 

x2 x4 

 



2/5 39

 

   

F= 600 
a b c 

x2 x4 x1 

 

F 

mm

 

 
  

F= 1200 
a’ b c 

x2 x4 x2 

 

F 

a

a’

mm

1

b

c

a / a’

b
1 2

a = 75..



2/5 40

2

a’
a

a

a’

3

4

c

c

c

1 2 3 4



2/5 41

1

M8x20 D603-C4 

8.8 Z TE

Ø 18

1’

2’

3
3’

4

4’

5

5’

6

7 6’

7’

 

 
 

M8x20 D603-C4 
8.8 Z TE 

X1 x2 

 



2/5 42

1

mm  
L 

 

≤ 1900 x1 

> 1900 x2 

 

 

 

 

 

 

 

 

  

 

 

 

 

L≤1900 L>1900

1 2 3



2/5 43

2

3

mm  
L 

 

≤ 1900 x1 

> 1900 x2 

 

 

 

 

 

 

 

 

  

 

 

 

 

≤1900 >1900

1 2 3



2/5 44

4

 
L 

 

≤ 1900 x1 

> 1900 x2 

 

 

 

 

 

 

 

 

  

 

 

 

 

2
5
0
4

2
0
0
4

1
5
0
4

mm

≤
1
0
0

≤
8
0
0

≤
1
0
0

≤
1
0
0

≤
8
0
0

≤
1
0
0

L

L



2/5 45

1

 
 

M8x20 D603-
C4 8.8 Z TE 

x1 x1 

 

M8x20 D603-C4 

8.8 Z TE

25

≤
1
0
0

≤
8
0
0

≤
1
0
0

≤
1
0
0

≤
8
0
0

≤
1
0
0

mm

M8x20 D603-C4 

8.8 Z TE



2/5 46

2

 
L 

 

≤ 1900 x1 

> 1900 x2 

 

 

 

 

 

 

 

 

  

 

 

 

 

2
5
0
4

2
0
0
4

1
5
0
4

mm

≤
1
0
0

≤
8
0
0

≤
1
0
0

≤
1
0
0

≤
8
0
0

≤
1
0
0

L

L

M8x20 D603-C4 

8.8 Z TE



2/5 47

B

A

 

 
M8x15 D933 
5.6 Z T.2A 

 

x1 x2 
A x2 

B -- 

 

M8x15 D933 5.6 Z 

T.2A

M8x15 D933 5.6 Z 

T.2A



2/5 48

≤
 1

.9
0

0
 m

m
≤
 1

.9
0

0
 m

m

 
 

x1 x2 

 



Belgique/België

Tel. +32 2 346 90 71

info@mecalux.be

mecalux.be

Deutschland

Tel. +49 (0) 2133 5065 0

info@mecalux.de

mecalux.de

España

Tel. +34 932 616 913

info@mecalux.es

mecalux.es

France

Tel. +33 01 60 11 92 92 

info@mecalux.fr

mecalux.fr

Italia

Tel. +39 02 98836601 

info@mecalux.it

mecalux.it

Nederland

Tel. +31 208 08 30 96 

info@mecalux.nl

mecalux.nl

Polska

Tel. +48 32-331 69 66 

info@mecalux.pl

mecalux.pl

Portugal

Tel. +351 21 415 18 90 

info@mecalux.pt

mecalux.pt

Slovensko

Tel. +421 220 545 117

info@mecalux.sk

mecalux.sk

United Kingdom

Tel. +44 0121 3336 602 

info@mecalux.co.uk

mecalux.co.uk

Česko

Tel. +420 222 524 240 

info@mecalux.cz

mecalux.cz

Türkiye

Tel. +90 216 706 10 15 

info@mecalux.com.tr

mecalux.com.tr


	Sección predeterminada
	Diapositiva 1
	Diapositiva 2
	Diapositiva 3
	Diapositiva 4
	Diapositiva 5
	Diapositiva 6
	Diapositiva 7
	Diapositiva 8
	Diapositiva 9
	Diapositiva 10
	Diapositiva 11
	Diapositiva 12
	Diapositiva 13
	Diapositiva 14
	Diapositiva 15
	Diapositiva 16
	Diapositiva 17
	Diapositiva 18
	Diapositiva 19
	Diapositiva 20
	Diapositiva 21
	Diapositiva 22
	Diapositiva 23
	Diapositiva 24
	Diapositiva 25
	Diapositiva 26
	Diapositiva 27
	Diapositiva 28
	Diapositiva 29
	Diapositiva 30
	Diapositiva 31
	Diapositiva 32
	Diapositiva 33
	Diapositiva 34
	Diapositiva 35
	Diapositiva 36
	Diapositiva 37
	Diapositiva 38
	Diapositiva 39
	Diapositiva 40
	Diapositiva 41
	Diapositiva 42
	Diapositiva 43
	Diapositiva 44
	Diapositiva 45
	Diapositiva 46
	Diapositiva 47
	Diapositiva 48
	Diapositiva 49


